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A Study on Precise Position Synchronous Control
of Multi-Axes System with Robustness against Disturbance

Bong-Seok Choi

Department of Mechatronics Engineering, Graduate School

Pukyong National University

Abstract

The position synchronous control of multi-axes servo system is
considered to be an important subject in motion control field for
application to plotters, robot arms, and numerical control machines. In
the past, position synchronous controls are mainly realized with
mechanical coupling such as gears, cams, and shafts etc. However
recently, owing to the development of mechatronics technology,
position synchronous is realized with software algorithms without
complicated mechanical couplings. Comparing to the conventional
methods, newly developed method has some merits such as good
flexibility, low cost for maintenance, and decrease in environmental
problems such as noises and vibrations.

In this paper, we deal with a precise position synchronous control
of four-axes system which is working under various load
disturbances. Fach axis driving system consists of a speed controller
and an acceleration controller as an inner loop instead of conventional
current control scheme. The acceleration control plays an important
roll to suppress load disturbances quickly. Also, each axis is coupled
by a maximum position synchronous error comparison to minimize
position synchronous errors according to integration of speed

differency. As a result, the proposed system enables precise



synchronous control with good robustness against load disturbances
during transient as well as steady state. The stability and robustness
of the proposed system are investigated through its frequency
characteristic and numerical simulations. Finally, experimental results
under load disturbances demonstrate the effectiveness of the proposed

control system for four-axes position synchronous control.
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Fig. 3.1 Speed control system based on current control

Fig. 3.2 Speed control system based on acceleration control
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Table 3.1 Motor parameters and rated values

Axes .

Term Motor 1, 2 | Motor 3, 4| UMt
Rated Power Px 300 200 [w]
Rated Torque Tr 0.95452 0.637 [Nm]
Rated Speed Ng 3000 3000 [rpm]
Rated Current Ip 4.8 3.3 [A]
Rated Voltage Eg 75 75 [V]
pack tlectro- Motive K. | 02333 | 02262 | [V/rom]
Torque Constant K, 0.22246 0.2156 [Nm/A)
Inertia of Rotor J 2.45x10 1.76x10* | [Nmsec?]
Resistance of Armature | R, 1.02 1.53 [Q]
inductance of Armature | L, | 1.07x10° | 1.75%10° | [H]

& EA 07 HAN BAZRFRE oo 3 WAAAR HRADo]
A AL 2% 22480 71&3AT. WA, tEEA A £LHL 4
€ 27 &9 diAelsl ALl waAdA FAge & F Aok 8
o0 g 9A R ARY dA"AGA 48D A, WEYF
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Fig. 3.4 Open loop frequency characteristic of acceleration control system
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Fig. 3.6 Frequency characteristic of acceleration control system under
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Fig. 3.7 Speed responses on relation of between o, and w, under

disturbance torque
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A Egel AL 3Fich A B o] S MATLAB T2 1eo|A] F8s14 2.
H, %X AAT Aolzle A & Aojr]e AJL Table 3.2¢}
Fa gy

Table 3.2 Value of controller parameter

Value
Parameter
1, 2 axis | 3, 4 axis

Current Controller & Ky, Ky 35 5.721
Acceleration Controller To. Ty 1.04x107° 11.143%10°

K 0.72 0.529
Speed Controller

K 936 68.7
Position Synchronous Controller K 1 1
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Fig. 3.8 Simulation result of single-axis motor based on acceleration control
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Fig. 39014 <& <= Sl= wheh 2ol Aetd o] ARAAAN ulg
q A2 AufE F B2 RS A, e 2MAESA F
s glong & mA o] t% fasida B 4 3k

Fig. 3102 Fig. 393 722 Aol 271oz,

_&9 it

o] 8ol of

_34_



d Adatatel g 7S B9 SESHoIn £x=A% & Fig
3.99] 23 T3}, 4sec] AJ™ol A 4= T (Motor 4)0 FHER
o 100[%]ol #Fat= 2719 10[Hz] 7048 2be @ n Hepd st
B3 9TE QA7)

Speed Response[rpm]

650 | l
— spee!d reference I
640 - speed response based on acceleration control !
- spead response based on current contrcl
630
520 'J 1\ { ‘, ’]/‘\_1 g*\l ‘ l[\= ;’ IWL [’l’\n f \-\ A "’:' \:I
Ao
P I l | i | i
AN INAINAN I N LA
T T T T T
g ’ ' ! ! [ I \ ; l | \ | . f \‘
E s ARS RN AR VA
) § 1 ] 4 o bl
3 600 fem e j } e v Pp
oy o U b | 1
2 l | I | | I |
& i \ | N \ [ | \ l |
590 | | | N - 1 I
I O T A
BINIRRIERIRIRIRI.
Ly FAREL VAR S VA
T VT Y VA VA VN VY.
570
560
550
38 4 4.2 4.4 4.6 48 5
time [sec]

Fig. 3.10 Speed response of single-axis motor based on acceleration and

current control under sinusoidal load disturbance
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= PC2 A/D {EA1711, <4E A4ARS D/A J8AAH £93
RHEZ QA71atge}. o] B=E 12bit B35 9 16ch. A/DEES}H 12bit B
&5 2ch. D/AXEEZ FA = en, 8bite] DI(Digital input), 8bite]
DO(Digital output) 7]%5o] e} 2359 d&He R AHFHo|AR
=& o] &3t

@ Ajzz2ah82 HAEJF PCAAM Turbo-CE o] &3ld 3 stg L}
g Turbo-Co] ey 7158 o|&ste 2z} HR] 2AA7F T e Eo)
NedEE 29 syl

g A7MEAE 999 Bdo|A(powder brake)E A 4% wE
Foll ASPE T3 dFslgon, Bdol=e J|E AL Table 417

DU AIBES)L neyolae] st AxHgt oEl TAEZE U]
gol 71249 o P PNEA 9 JVEA 2y IudI[RE
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Table 4.1 Powder Brake parameters

A2
Model HAE] HAXQ HANME
38
1000 [Lrpm
NKPB-0.3 | 2.94[N-M] | OC 24Iv] | 0.68[A] OI[al ]
DC Power Supply
DC 5VIl 0 - 2.5V Set |
Brake
AX5411 NO |
Interface ; )
i C
board | * oupling
D/O
Brake control board M(:tor

Fig. 4.2 Control board of powder brake
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Fig. 4.3 Disturbance torque characteristic of powder brake
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42 AT Eoj9] A4

Fig. 44v C Z2agelx FEE 7]1E9 ARAAAE zE Ao
2399 #MEE Yehly, Fig 455 2 dFA Adste NeEx
AAE Ze Aolzzade] ¢MEE Jebd Aol

e

Interrupt current( )

[t ]

Define function : |

: |

! |

Main( ) ! !

] t

] 3

Initial_data( ) § ;

' \

] ]

Y E '

Monitor{ ) ! E

e s

M 1 ]

Timer( ) i calculate current :

! i calculate voltage '

] []

Realtime i voltage reference output §

Monitoring e
Speed( )

yTTTTTT TR TS

Yes i E

Interrupt i i=20 H

' 1

' Input speed feedback )

ND : |

: calculate speed :

E calculate position error i

' 1

: {

Fig. 4.4 Program flow chart for experimental program based on current

control
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START

Interrupt acceleration( )

Acceleration ref. output

Define function i' ---------------------------- E
> Input speed feedback |

A ' '
Main( ) g 3
] ]

Initial_data( ) E ;
[} ]

: !

X ! i
Monitor( ) i < i
' No [* H

; \ i

Timer({ ) | Calculate speed E
E Calculate acceleration i

v g with LPF ;
Rea-ltlrr'le E Calculate max position E
Monitoring E synchronous error !
E Voltage ref. output i

1 [}

Yes ,__-_-_____-.R.flzl_:g_) ____________ .

Interrupt ! '
E i

No E a=0 :
E Input speed feedback |® E

: i

l |

» b e ————— e ————————

Fig. 4.5 Program flow chart for experimental program based on acceleration

control
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Fig. 4.6 Experimental result under 50[%] step disturbance of motor 4 based

on current control system
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4.7 Experimental result under 50[%] step disturbance of motor 4 based

on acceleration control system
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Fig. 4.8 Experimental result under 100[%] step disturbance of motor 4

based on current control system
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Fig. 4.9 Experimental result under 100[%)] step disturbance of motor 4

based on acceleration control system
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A-2 fSet&Ed F3 20dS

1. EJI%1& observerE 0|28 etET =3

Jo+T,=T,,

(1)

OM21M, J : motor shaft inertia, 7T, : load torque, T, - motor

torque=® LIEFACE

Tl= Tinrt+ Text+ Tfrc

(2)

IIM, Ty ¢ inertial toraue, T, ¢ external torque, T @ frictional

torqueE LIEFAHCEH
Tm:K!l.a
JIM, K, : torque constant, i, : motor current

A1) & Al2)01 2iaH

]CU: Kt l‘a_(Tinrt+ Texi+ Tfrc)

Al(4)0lA W2t0IE=E 7 2 K, 220 EMSIE22, A(5)2F 20| LIEI

RUCH.
J=lLtd]
K=K+ 4K,

OJIM, EX n 2 nominal gt& EAIBH.

=, Jow = BEle AHEIE, 4K, i, EICEZR A1FE = UYL
A(5)0 2ol 2itED= AE)0 20| HEE = UAT

Tdis = T{'f' A]CU'“AK, l'a

= Tt Tout Thet (U— 1) 0+ (K, — K)i,

- K7 -

(3

(4)

A
T

)

(6)



CetA, A3l 2o A g)2 Al(7)2 201 ST

Tdisthn ia—]néu = Tx‘ (7)

2. Reduced-order asymptotic observer2 0|28t Q&€ =3

gt E32| 32|34 UnknownOlgtH,

z=T/+gw (8)
HIIAM z= DB, o= A4=9 observer H|IZ LIEHHCEH

2

of, SOot2let0l AlZteta=0fl Chot “cIot |isttin JHE&HE, 7,=00li2t
2= AL2Z, A(9)et 20| LIEHE =+ UCH

W

é=géu=g('1jK,ia—%T1) ©)

Al(B)2 A{9)0 THYBHY H2lst®, A(10)0] HC}.
2= % (—gz+ Law+ gk, i) (10)

20l CHolt observer& &X[6IH, A(11)8 E8S 1,

Z:

(—gz+ g w+gkK, i) 1)

~

z=2z—z b S, A(10)2 A(11)2 2AH O S50 Al(12)2F 20l =L,

7 z (12)
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$INGLUDE (80196ROM.INC)
PWM_1
PWM_2
10C3
DT_t
DT 2
OUTY_1
DuUTY_2
REG_1
REG_2
REG_3

CSEG

ADSTART:
ADBUSY:
LOAD_DUTY_i:

LOAD_DUTY_2:

L_LIMIT_t:

H_LIMIT_1:

L_LIMIT 2

H_LIMIT_2:

SETT:

PWM ACT:

EQU
EQU
EQU
EQU
EQU
EQU
EQU
EQU
eQU
EQU

AT

LDB8
LOB
L.OB
LDB
LOB
LOB

LbB
JBS

LDB
CMPB
JNH
CMPB
JH

LbB
Lo
ANDB
ANDB
ADDB
CMPB
JRH
cMPB

SIMP

Los
SJMP

LD8
SIMP

LoB
SJIMP

LOB

LoB
.08

LDB
LD8B
108
LOB
SIMP

END

A-3 PWM &

16H
17H
OCH
20H
22H
24H
26H
28H
2AH
2CH

2080H

SR, #0COH
1QCO,#101000008
10C1,#000000018
10C2,#000001008
WSR, #01H
10C3,#000011008
WSR,#00H

ADCOM,#000110008
ADRESLO,3,ADBUSY

DT_1, ADRE3H!
DOT_1,#00H
L_LIMIT_}

DT_1 #0FFH
H_LIMIT_1

REG_1,PI

REG_2,P2
REG_1.#111001118
AEG_2,#000110008
DY _2.REG_t REG 2
DT_2,#00H
L_LIMIT_2
DT_2,#0FFH
H_UMIT_2

LOAD

OT_1,#00H
LOAD_DUTY_2

DT_1 #0FFH
LOAD_BUTY_2

OT_2,#0CH
SETT

DT_2,#0FFH

DUTY_ 1,07t
DUTY_2,07_2

WSR.#01H
PWM_3,DUTY_1
PWM_2 DUTY_2
WSR, #00H
ADSTART
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A-4 4= FAXSIIHO ASdold =2 )

% Condition Initializer

Wc=3272:
Wsc=Wc/5;

Wpi=Wsc/5:

voltage_max=75.0!
current_max=18.8:

% Sampling Period

% JET MM RAAFD

+

% SZTHOMHS mXp2FDiss

% PIHIOIIIS HEFM
% RH I
% 2E HUES

T_t=1.5;
T_s=0.001
T.a=0.0001:

dt=0,000001:

T_1=T_t/T_s:
T_2=T_s/T_a:

T_3=T_aldt:
count=0;

% Motor Parameters

T oY A
XZHOA SEREIY
FECTHAHN MEBEY

2E ABNOIA

Ke_4=0.2262:

% Controllers Gain

Kap_1=Wc#ia_1: % M2 H§
Kat_t=(Wc=Ra_1);

Ksp_t=Jm_1*Wsc/Kt_1;
Ksi_1=(Ksp_1*Wpi):

Kpp_1=1:

Kap_2=Wc+La_2:
Kai_2=(Wc*Ra_2):
Ksp_2=Jm_2*Wsc/Kt_2:
Ksi_2=(Ksp_2+Wpi};

Kpp_2=1.

Kap_3=Wc=la_3;

Ra_1=1.02;
La_1=0.00107:

Jr_1=0.000245:
Om_1=0.00105;
Kt_1=0.22246:
Ke_1=0.2333;

Aa_2=1.02:
La_2=0.00107:

Jm_2=0.000245:
Om_2=0.00105;
Ki_2=0.22246;

Ke.2=0.2333:

Ra_3=1.53;
La_3=0.00175:

Jm_3=0.000178:
Om_3=0.00145:
Ki_3=0.2156;
Ke_3=0,2262;
Ra_4=1.53;
La_4=0.00175;
Jm_4=0,000176:
Dm_4=0.00145:

Ki_4=0.2166

Kai_3=(Wc+Ra_3).
Ksp_3=Jm_3*Wsc/Kt_3:
Ksi_3=(Ksp_3*Wpi):

Kpp_3=1:

Kap_4=Wc+La_ 4.
Kai_d=(WcrRa_4):
Ksp_4=Jm_4*Wsc/Ki_4;
Ksi_d4=(Ksp_4+*Wpi):
Kpp_d4=1;

% System Initiaiizer

el
B

g

w_rpm=600;

w_ref=0!
w_rad=w_rpm=*(2+pi}/60:
sync_t=0;

dummy 1=0;

dummy2=0;

dummy3=0;

big=0;

sync_er=0;

sync_u=0;

a_1=0:
Ga_1=0:
Ga_1_o=0;
dw_1=0:

dw_1_o=0;
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w_1=0;

w_1_rpm=w_1+60/(2*pi):

w_1_p=0;
e a_ 1=0;
e_a_l_o=0:
e w_1=0;
e_w_1_o=0
ip 1=
i_1=0:
i_ref_t=0:

fa_1=0:
e_i_1=0:

sync_t=0
sync_1_o=0'
sync_1_er=0:
sync_1_er_o=0:

sync_1_u=0Q;

w_2=0:

w_2_rpm=w_2+60/(2*pi):

w_2_0=0:
e_w_2=0;

e w 2 o=0;
ip_2=0:
ii_2=0:
i_ref_2=0;

la_2=0;
g | 2=0;

e_i_2_o=0:
v_p_2=0:

v:lef_2=0:
Td_2=0;
sync_2=0;
sync_2_o=0:
sync_2_er=0.

sync_2_er_o=0:

sync_2_u=0;
a_ref 2=0!
a_ref 2 o=0;

a_3=0;
Ga_3=0:
Ga_3_o=0;
dw_3=0;

dw_3_o=0:
w_3=0;
w_3_rpm=w_1+60/(2+pi};
e_a_3=0;
e_a_3_o=0;
w_3_o=0;
e_w_3=0:
e_w_3_o=0
iLp_3=0:
ii_3=0:
i_ref_3=0;
la_3=0;

e _i_3=0:
e_i_3_o=0:
v_p_3=0:
v_i_3=0:
v_a_3=0;
v_a_3_o=0:
v_t_3=0
v_e_3=0,
v_ref_3=0;

Td_3=0;
sync_3=0;
sync_3_o=0i
syne_3_er=0;
sync_3_er_o=0:

sync_3_u=0;
a_ret_3=0:
a_ref_3_o=0:

a_4=0;
Ga_4=0;
Ga_4_o=0:

dw_4=0;
dw_4_o=0:
w_4=0;
w_ 4 _ipm=w_2~60/{2~pi};
w_4_o=0:
e_a_4=0:
e_a_4 o=0:
e_w_4=0.

e w_4 o=0:
_p_4=0;
i_i_4=0.
i_ref_4=0;
la_4=0:
e_i_4=0;
a_i_4 o=0:
v_p_4=C;
v_i_4=01
v_a 4=0;
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v_a_4_o=0;
v_t_4=0:
v_e_4=0:
v_ref_4=0:

Td_4=0:
sync_4=0!
sync_4_o=0:
sync_4_er=0;
sync_4_er_o=0;

sync_4_u={:

a_ref_4=0;
a_ref_4_o=0:

% Cycle and Time Shearing initialize

T O=T_1+1:
yO=zeros{T_0,1)
y1=y0:

y15=y0:
y16=y0:

YO=0:T_sT_I;
yUH{1,1)=w_i_rpm;
y2(1.1}=w_2_rpm;
y3(1,1)=w_3_rprm;
yd(1,1)=w_4 rpm;
y5{1.1)=la_1;
y6(1,1)=la_2:
y7(1.)=la_3:

va(1,1)=la_4:
ya(1,1)=v_t_1:
y10{1,1)=v_t_2:
y (1 1=t 3
yiz(t.1)=v_t 4

y13(1, 1)=sync_1_er
y14{1,1)=sync_2_er:
y15{1.1)=sync_3_er.
y16(1.1}=sync_4_er:

% Speed Loop Start

%time vector

%MNo.1 speed

%No.2 speed

%No0.3 speed

%No. 4 speed

%Mo, 1 current

%No.2 current

%MNo.3 current

%MNc.4 current

%MNo. 1 voltage

%No.2 voltage

%No.3 voltage

%MNo.4 voltage

%Mo.1 synchronous error
%No.2 synchronous error
%No.3 synchronous error
%No.4 synchronous error

% elseif kv > (0.6/T_s)

% w._ref=w_ref-w_rad/{0.6/T_s):

else
w_ref=w_rad:
end

if kv <= (1.2/T_8) %Disturbance
Ta_1=0;

Td_2=0:
Td_3=0;

Td_4=0:
eise

Td_4=0.47726; % BH 50% UYA
end

e_w_1=w_ref-w_1-sync_1_ui % 1laxis speed errof
a_ref_l=a_ref_1_o+{Ksp_l1+e_w_1}+(Ksi_1+T_s*e_w_1)}-(Ksp_1
wo_w_1_0) % =T 1™

e w_Z=w_ref-w_2-sync_2_u; % Zaxis speed error
a_ref_2=a_ref_2_o+{Ksp_2*e_w_2)+{Ksi_2+T_s*e_w_2)-(Ksp_2
e_w 2 o) % NER XF

e_w_3=w_ref-w_3-sync_3_u: % tfaxis speed error
a_ref_3=a_ref_3_o+(Ksp_3+e_w_3)+{Ksi_3*T_s»e_w_3)}-(Ksp_3
se_w_ 3 0} % X KB

e_w_4=w_ref-w_4-sync_4_u; % 2axis speed error
a_ref_d=a_rei_4_o+(Ksp_dre_w_4}+{Ksi_4*T_s+e_w_d4)-{Ksp_4
ve_w 4 0)i % N&Ex NP

e w_ i o=ew 1
e_w_?_o=e_w_2.
e_w_J_o=e_w_3;
e_w_4_o=e_w_4
aref 1_o=a_ref 1:
a_ref 2_o=a_ref 2.
a ref 3 o=a_ref 3:
a_ref_4_o=a_ref_4.

% Acceleration Loop Start

for kJ=1:1.T_2;

e_a t=a ref 1-a_ 1 % 1| AxE X
a_t=(m_1/Ki_1)+Ga_t; % =T M=
voa_l=v.a 1 o+{Kcp_ive_a 1M+{(Kci_1+T_i*e_a_1)-{Kcp_l+e_ a
1ok % ®AXH

vt 1=v_a_1:

v_e_1=Ke_1+w_1;

voret_1=v_t_1-v_e_l;

for kv=1:1:T_1

if kv <= [{1/T_s)

%Speed Retrence

w_ref=w_ref+w_rad/(1/T_s)

e_a_2=a_ref_2-a_2 % 2&|& Ji&{T 22X
a_2=(Jm_2/Kt_2*Ga_2: % itHk THEW
v_a_2=v_a_2_o+{Kcp_2+e_a_2M+{Kci2+T_ive_a_2)-{Kep_2+e_a
2.0) % HANH

_63_



viz2=va2
v_e_2=Ke_2+w_2;
v_ref 2=v_t 2-v_e_2;

e a d=a_ret_3-a 3 % 3% HT 2B
a 3=(Im_3/Kt_3)+Ga_3; % JI&E 0=

v_a_3=v_a_3_o+(Kcp_3+e_a_3}+{Kci_3+T_ire_a_3)-(Kcp_3+e_a

30) % JAAB
v_t_3=v_a_3:
v_e 3=Ke_3»w_3:

v_ref_3=v_t_3-v_e_3:

e_a_d=a_ref 4-a_ 4, % 4% =k 2R
a_d={Um_4/Kt_4}+Ga 4, % Jt&x NS

v_a_d=v_a_4_o+{Kcp_d*e_a_4)+(Kci_4+T_ixe_a_4)-(Kcp_4*e_a

_4.0) % HAXNH

v i d=v_a_4
v_e_d=Ke_d+~w_4:
v_ref_d=v_t_4-v_e_4

v_a_t_o=v_a_l:
v_a_ 2 o=v_a g
v_a 3 o=v.a_3:
v_a_4_o=v_a_4:

e_a 1 o-e_a_l;
€_a_2_o=e_a_.
eadoead
e a4 o=e_a 4l

% Motor Model Simutation Start

far k.m=1:1:7T_3;

di_= —(Ra_1/La_1)*a_1+(1/La_1)sv_ref_1;

la_1=la_1+di_1+dt:

di_2= —(Ra_2/La_2}+a_2+(1/La_2)*v_ref 2,

la_2=la_2+d|_2+dt;

di_3= -{Ra_3/La_3)+la_3+(1/La_3)~v_rel3:

la_3=la_3+d!_3+dt;

di_d= ~{Ra_4/La_d)+la_4+(1/La_div_rel 4
la_d=la_4+Gl_4+dt;

end

% Motor Model Simulation £nd

Te 1=Kt I+la_1:

Tm_1=Te_1-Td_1:

Te_2=Ki_2+*la_2;
Tm_2=Te_2-Td_2:

Te_3=Kt 3«la_3;

Tm_3=Te_3-To_3:

Te_4=Kt_4+la_4:

Tm_4=Te_4-Td_4:

% Fach axis acceleration fiitering

dw_1=(Tm_1-Dm_1+w_1)/Jm_1;

Ga.1=0,6321+dw_i_o + 0.3678*Ga_l_o;

% 2axis acceleration fiftering

dw_2=(Tm_2-Dm_2*w_2}/Jm_2;
Ga_2=0.6321+dw_2_o + 0.3679~Ga.2.0:

% 3Jaxis acceleration filtering
dw_3=(Tm_3-0m_3=w_3)/Jm_3:

Ga_3=0.6321+dw_3_c + 0.3678+Ga_3_o:

% 4axis acceleration filtering
dw_4=(Trm_4-Dm_d+w_4)/Jm_4;

Ga_4=0.6321+dw_4._0 + 0.3679Ga 4 o

dw_1_o=dw_1:
dw_2 _o=dw_2i
dw, 3 _o=dw_3:
dw_4_o=dw_4;
Ga_1_o=Ga_n:
Ga_2_o=Ga_2:
Ga 3 0=Ga_3

Ga_4_0=Ga_4:
end

% Acceleration Loop End

w_l=w_1_o+dw_1+T_s; % HE M

w_2=w_2 o+dw_2xT_s!

w_3=w_3_o+dw_3*T_s:

w_d=w_4_o+dw_d+T_s:

sync_l=sync_1_o+{w_1-w_1_o)*T_s:
PARER AN

sync_2=sync_2_o+{w_2-w_2 ohT 8!
sync_3=sync_3_o+(w_3-w_3_o)*T_s:

sync_4=sync_4_o+{w_4-w_4_o)*T_s:

% dEAE Hwiyd

% Max position synchronous erfor comparison
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coml_1=sync_l-sync_2:
coml_2=sync_l-sync_3;
coml_3=sync_1-sync_d4:
dummy1_1=abs{dumi_1):
dummyt_2=abs{dum1_2);

dummy|_3=abs{dum1_3):

mi=[dummy1_1 dummy1_2 dummy? 3]:

big1=max{m1};
it bigl==dummyt_1

sync_1_er=sync_1-sync_2:
elseif bigl==dummy1_2

sync_1_er=sync_i-sync_3:
else bigl==dummy1_3

sync_1_er=sync_1-sync_4;
end

com?2_l=sync_2-sync_3:
comz_2=sync_2-sync_4a:
com2_3=sync_2-sync_1:
dummy2_i=abs{dum2_1);
dummy?2_2=abs{dum2_2):

dummy2_3=abs{dum2_3}

m2=[dummy2_1 dummy2_2 dummy2_3]:

bigZ=rmax{m2};
it big2==dummy2_1

sync_?_ef=sync_2-sync_3:
elself big2==dummy2_2

sync_2_er=sync_2-sync_4.
else big2==dummy?2_3

sync_2_er=sync_2-sync_1,
end

com3_1=sync_3~sync_4:
comd_2=sync_3-sync_1;
com3_3=sync_3-sync_2:
dummy3_1=abs{dum3_1):
dummy3_2=abs{dum3_2).

dummy3_3=abs{dum3_3);

m3=[dummy3_1 dummy3_2Z dummy3_3]:

big3=max(m3};
it big3==dummy3_1

sync_3_er=sync_3-sync_d4.
elseil big3==dummy3_2

sync_J_er=sync_3-sync_}.
else big3==dummy3_3

sync_3_er=sync_3-sync_2:
end

comd_1=sync_4-sync_1.;

comd_2=sync_4-sync_2:
comd_3=sync_4-sync_3:
dummyd_t=abs{dumd_1}:
dummyd_2=abs{dum4_2}:

dummy4_3=abs{dum4_3}:

méd=[dummy4_1 dummy4_2 dummy4_3}:
bigd=max({m4);
it bigd==durnmy4_1

sync_4_er=sync_4~sync_1!
elseif bigd==dummy4_2

sync_4_er=sync_4-sync_2;
else bigd==dummy4_3

sync_4_er=sync_4-sync_3.
end

sync_T_u=Kpp_1+sync_1_er:
sync_2_u=Kpp_2+sync_2_er’
sync_3_u=Kpp_3*sync_3_er:
sync_ 4 u=Kpp_d=sync_4_er.
w_1_o=w_1.

w_2_o=w_2:

w_3_o=w_3:

w_4_o=w_4:
sync_1_o=sync_1.
sync_2_o=sync.2;
sync_3_o=sync_3:

sync_4_o=sync_4.

sync_1_er_o=sync_1_er;
sync_2_er_o=sync_2_ger,
sync_3_er_o=sync_3_er;

sync.4_er_o=sync_4_er;

w_1_rpm=w_1=60/{2*pi);
w_2_rpm=w_2+60/(2*pi);
w_3_rpm=w_3+60/(2*pi}
w_4_rpm=w_4+860/(2+pi};
yilkov+1,1)=w_1_rpm;
2(k_v+1.1}=w_2_rpm;
3(k v+, t=w_3_rpm:
ya(k v+1,1)=w_4_rpm:
(

¥k v+1.1)=la_1:
y&(k_v+1,1)=la_2:
y7{k v+1, 1)=la_3:

yB(k v+1,1

=
vk v+, 1)=
y10{k_v+1.1
f
1

=y _]
yl1i{k v+t
y12(k_v+1,
y13k v+1,1

)v12
J=v_1.3:
J=v 1.4
)=

=sync_1_er;
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yid{k_v+1 1)=sync_2_er:
y15{k_v+1,1)=sync_3_er:
y168{(k_v+1.1)=sync_4_er:
count=count+1;

end

% Speed Loop End

figure(1}

set {gef, 'NumberTitle''off')
sal {gef, ‘Name' 'Speed')
plotlyQ.y1,v0,v2,y0,y3,v0.y4)
xlabel("time[sec]'}
ylabel('speed[rpm]')

arid

figure(2)

set {gcf, ‘NumberTitle','off')

set (gef, ‘Name','Current'}
plot{y0,y5.y0,y6 y0,¥7 y0,y8)
xlabel{'time[sec]’)
ylabe!{'current{A]")

grid

figure(3)

set (gef, 'NumberTitle',off')
set (gcf, 'Name','Voltage')
plotly0.y2.v0,y10.y0.¥11,y0,y12)
xlabel(time[sec]’)
ylabel('voltage [V]')

grid

figure(4)

set (gcf, 'NumberTitle',"of ')
set (gci, 'Name','Position synchronous error’)
plot{y0,y13,y0,y14,y0,y15.y0.y16)
xlabel('time[sec]’}

ylabei('Position synchronous error[rad]"}
grid
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/ - wwnrwnf
/* Pasition Synchronizing Centrol System *f
I Realtime Manitoring Program -/
/*  Speed, Current, Disturbance, »f

Position synchronous error *f
i+ o
I by Choi bong-seok. 2003, 12. +/
I wannn o as /

#include <bics.h>
#include <dos.h>
#include <conio.h>
#include <graphics.h>
#include <math.h>
#include <stdic.h>
#include <stdarg h>

#include <stdlip.h>

#define PORT 0x300
#define B_ADR 0x120
#define XYCH B_ADR+0x0Q00
#define ZUcH B_ADR+0x001

#define TMR_LCMD B_ADR+0x01A

#define TMR_DAT B_ADR+0x018
#define IN_PORT B_ADR+0x01C
#detine QUT_PORT B8_ADR+0xG1C
#define TMR_RST B_ADR+0x01D
#define OP_POAT B_ADR+0x01E

#define CLYCH_RST B_ADR+0x01F
#define pi  3.14158265358979
#define data_sum 300

#define T_i 0.0005

#define T_s 0,002

frEsearxEaEath *

#define ksp3 0.13
#define ksi3 -0.12
#define kpp3 1
#define kap4 0.51
#define kai4 0.23
f#define kspd 0.13
#define ksid —0.12
#detin kppd 1
#define Ktt 0.22246

f#define Jm1 0.000245

#define K1 0.0012 /+ 0.000863265 =/
#detine Kt2 0.22246

#define Jm2 0.000245

#define K2 0.0012 /+ 0.000863265 «/
#define Kt3 0.2156

#define Jm3 0.000176

#define K3 0.0012 /» 0.000863265 =/
F#define Kt4 0.2156

#detine Jmd 0.000176
#define K4 0.0002 /» 0,000863285 +/

/ o !
int DA, i, con, cw_flg_1, cw_flg_2, cw_flg_3, cw_fig_4,
cw_flg, ot

int acceleration loop_ftag, speedloop_flag, select flag.

ref_flag, skip_flag:

int DA_T, DAL h,
int DA_2, DA_2_h.
int DA_3, DA_3_h,
int DA_4, DA_4_h,

DA_1_E AD_1_h, AD_1_E
DA_2), AD 2 h, AD_Z2_I
DA_3l. AD_3_h, AD_3_ L
DA_A_Il, AD_4_h, AD_4_I

#define kap1 0.32
#define kail 0.32
#define kspl (.13
#define ksit -0.12
#define kppl 1
#define kap2 0.31
#define ka2 0.33
H#define ksp2 0.13
#define ksiz —0.12
#define kpp2 1
#define kap3 0.43

#deline %aid 0.31

floal ref, ref_rom, ref_max, ref_speed:

fioat ref_step, time_sum, gap{2}. x_gap, up_slop,
down_slop:

float DA_1_scale, AD_1, current_1[2]. voltage_1,
pm_1,curi[2]:

float ~DA_2_scale, AD_2, current.2[2],  voltage 2,
rpm_2,cur2{2}:

float DA 3.scale, AD_3. curent.3[2].  voltage 3
rpm_3,cur3[2]:

float DA_4_scale, AD_4, current_4(2], voltage_4.

rpm_4.curd[2]:
long v

long pulse_1(2], count_1, count_1_gap, xd3, xd2, xd1, xdC:
jong pulse_2{2], count_2, count_2_gap, yd3, yd2, ydl, ydO:
long pulse_3[2]. count_3, count_3_gap, zd3, zd2, zdl, zd0:

long pulse_4[2], count_d, count 4 gap, ud3, ud2, udl, udd:
float speed_t[2], theta_112], w_1_el2]. A_1(2], A_1 el2],
x;;zzilpeed_Z{Z], theta_2(2], w 2_el2}, A_2[2], A2 e[2].
\f';gi{eiﬁeedj[ﬂ. theta_3{21, w_3_e[2]. A_3[2]. A3 ef2],
Xgizzs]r;eedj[ﬂ theta_4[2], w_4_e[2]. A_4[2]. A4 el2],
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v_4[2].
float speed_e_1, speed_e_2, speed_e_3, speed_e_4;
float theta e, theta_e_1, theta_e_2, theta.e. 3, theta_e_d4!

float  theta_ref, theta_rel_1, theta_ref_2, theta_ref_3,
theta_ref_4, skip:
fioat data_spdt[501], data_spd2[501), data_spd3[501],

data_spd4[501]:
float data_cur1[501],
data_curd{501}.
float data_tht1 [501],

data_cur2{501],  data_cur3[501],

data_th12[501).  data_tht3[501],
data_tht4[501];

float dummyt, dummy2, dummy3:

float gasok_1[2),gasok_lob{2).gasok _2[2] gasok_2ob[2]:
float gasok_3[2],gasok_3ob[2] gasok_4([2].gasok_4ob[2]:
float yi

int MaxX, MaxY, MaxColors, ErrorCode;
X2, y2, y3,

yv2l2]. wy3l2]. yya{2l. yys[2]:

int x_step, y_step, x1., yi. wi[2], yyt[2).

int gprintf( int xloc, int vloc, char «imt. .. );
struct time start, end:

struct palettetype palette:

struct viewporttype vp:

struct viewporttype vpl:

FILE *fp:

void initial_time(void):

void initial_counter{void):

void initial_datalvoid):

void initiai_graph{void}:

void realtime_monitoring({void):
void data_saving(vaid}:

void monitor_set{void);

void monitor_graphset1{voig):
void monitor_graphset2(void):

void monitor_graphset3(void):
void realtime{void):
void reattime2(void);
veid realtime3(vaid):
void realtime4{void):
vold realtimeS{void):

void realtime i_grap{voia):
void realtime2_grap(void):
void realtime3_grap(void}:
void realtime4_grap(void):

void realtime5_grap({void);
void ramp_referencelvoid):
void variable_reference{void);
void data_grap(void}:

void data_out(void);

vaid selecticni{void):

void selection2{void):

void selection3(void):

void Fillbox(int sx, int sy, int ex. int ey, int color):
void timer{void}:

void interrupt{*oldfunc}i{):
void interrupt current{vaid):

void control_input_start_endlvaid);
void speed(veid)

void ad_con(double *valua):

void referencel(void):

void reference2{veid);

void reference3(void):

/ T— !

Jrarrmnexarenxananarrs  Main Program

Jrrrknionk " /
void interrupt acceleration{void){

acceleration loop_flag++:

v+l

if(v<10000)

outports(PORT+3, OxOF):

else it{v<20000)

outpontb(PORT+3, 0x1F);

else

outportb(POAT+3, 0xO0F):

AR AR Rww

outportb(PORT+Z, 0x00);

outportb{PORT+0, 0x00):

dof

con = inportb(PORT+8);
Ywhile{con>127):

AD_1) = inportb(PORT+0);

AD_1_h = inportb{PORT+1). // cumrent A/D converting

outportb(PORT+2, Ox11);

outportb(PORT+0O, 0x00);

do{

con = inportb{PORT+8);
Ywhilelcon>127).

AD_2_| = inportb(POART+0):
AD_2_h = inportb{PORT+1)
cutportb{PORT+2, 0x44):
outportb{PORT+0, 0x00)
dol

con = inportb(PORT+8):
Jwhile{con>127);

AD_3 | = inportb{PORT+0):
AD_3_h = Inportb{PORT+1)
outportb(PORT+2, 0x55):
outportb{PORT+0, 0x0DQ):
do{

con = inporth(PORT+8}
twhile{con>127);

AD_4_| = inpartb(PORAT+0):

AD_4 h = inportb{PORT+1};

fren .

AD_1 = (float){{AD_1_h<<d)+(AD_1_1>>4));
currerd_1[1] = 5.+{(AD_1-2047.}/2048.)+0.3:

/{ current calculation

cur1{1] = 0.1338*current_1[0] + 0.B661+curi[0]:
/i cument filtering

AD_2 = {fioat)({AD_2_h<<4)+(AD_2_>>4)):
current_2[1] = 5.+({AD_2-2047.)/2048.)+0.3:
cur2[1] = 0.1338+current_2[0] + 0.8661»cur2[0];

akxrrref
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AD_3 = {Hloat){(AD_3_h<<A)+{AD_3_I>>4))
current_3{1] = 5.+((AD_3-2047.)/2048.)+0.3.
curd[1] = 0,1478+current_3{0] + 0.8521+cur3i0]:
AD_4 = {float)((AD_4_th<<a)+(AD_4_I>>4)):
curremt_4[1] = 5.+({AD_4-2047 )/2048 }+0.3:
curd(1} = 0.1479curent_4[0] + 0.852%1+curd{0]:

outportb(QOP_PORT, 0x40):
outpartb{XYCH+10, 0x01):
xd3 = inportb{XYCH+6)
xd? = inportb{XYCH+4):
xd1 = inportb(XYCH+2):

xd0 = inporth(XYCH+0):
pulse_1[1] = {{xd3<<24)+({xd2<<16)+{xd1<<B)+xd0):

/{ count board initialize
outportb(XYCH+10, 0x02):
yd3 = inportb(XYCH+6);
yd?2 = inportb(XYCH+4):
ydl = inportb(XYCH+2):

ydQ = inportb{XYCH+0};
pulse_2{1] = ({yd3<<24}+{yd2<<16)+(yd1<<8)+ydQ).
outportb(ZUCH+10, 0x01);

zd3 = inportb(ZUCH+8):

zd2 = inportb(ZUCH+4):

zd1 = inporb(ZUCH+2}

zd0 = inportb{ZUCH+0):

pulse_3{1] = ((zd3<<24)+(zd2<<16)+(2d1<<8) +2d0):
outportb{ZUCH+10, 0x02):

ud3 = inpartb{(ZUCH+8):

ud? = inportb(ZUCH+4);

udl = inporte{ZUCH+2);

ud0 = inportb(ZUCH+0):

pulse_4[1] = ({ud3<<24)+(ud2<<18)+{ud1<<8}+ud0}:
outportb{OP_PORT, 0x00}):

outportb(CLTCH_AST, 0x00):
count_i_gap = (pulse_1[1]-pulse_1[0])

count_1 = (count_1_gap < Q) ? count_1_gap+2147483647. :

count_1_gap:

speed_1{1] = ({{float){count_1)=2.~pi)/4000.1/T_i;
speed_1[1] = (speed_1{1] + speed_1{0]}/2.;
rpm_1 = {speed_i[1]+(60./(2.+pi)));

/{ molar rpm cacutation

count_2_gap = {pulse_2[1]-pulse_2[0]):

count_2 = (count_2_gap < 0) 7 couni 2 gap+2147483647, :

count_2_gap:

speed_2[1] = {({float{{count_2)*2 ~pi)/4000.)/T_i
speed 2[1} = {speed_2[1] + speed_2[0))/2.;
pm_2 = {speed_2[11«{60./(2.*pi))):

count_3_gap = (pulse_3[1]-pulse_3[0]);

count_3 = {count_3.gap < 0) ? count_3_gap+2147483847, :

count_3_gap:
speed_3[1] = {{{float){count_3)*2.*pi)/4000.)/T_i;
speed_3(1] = (speed_3[1] + speed_3[0])/2.:

ipm_3 = (speed_3[11+(80./(2.4pi))):
count_4_gap = {pulse_4[1]-putse_4[0]}:
count.d4 = (count_d_gap < 0) 7 count_d4_gap+2147483647, !
count_4_gap:
speed_4[1] = ({{float){count_&)+2.+pi)/4000.)/T_i;
speed_4[1] = (speec_4{1) + speed_4[C1)/2.
rpm_4 = (speed_4[1}3*{60./(2,~pi)}};
gasok_1{1] = ({speed_1[t] = speed_1[0INT_ii //
acceleration cacuiation
gasok_tob[1] = {0.1832+gasok 1[0} +

0,8168+gasok_1ob[0]); // acceleration filtering

gasok_2(1] = (speed_2[1]} - speed.2[0])/T_i

gasok_20b[1] = (0.1832»gasok_2[0]
0.8168+gasok_20b[0]):

gasok_3[1] = (speed_3{1] - speed 3{0])/T_i:

gasok_3ob{1] = {0.1832=gasok_3[0]
0.8168+gasok_3ob[0]):

+

gasok_4[1] = (speed_4[1] - speed_4[0})/T_i:

gasok_4ob[1] = {0.1832»gasok_4[0]
0.8168+gasok_4ob[0]}:

theta_t[1] = theta_1(0)+(speed_1[1]-speed_1[0])+T_i:
/! moter position variation

theta_2[1] = theta_2[0]+{speed_2{1]-speed_2[01)T_k

theta_3[1] = theta_3[0]+(speed_3[1]-speed_3[0]}+T_i:

theta_4[1] = theta_4(0]+(speed_4[1]-speed 4[01}+T_i:

+

[rasvexrwasranrnrnexer  max position emor  comparition

P
dummyl = fabsitheta_1[1]-theta_2{1]):
dummy2 = fabs(theta_1[1]-theta_3[1]}:

dummy3 = fabs(theta_1[1]-theta_4{1]);

it{dummy 1 >dummy2}
iH{dummy 1>dummy3}
theta_e_1 = theta_t[1]-theta_2{1]:
else
theta_e_1 = theta_1[1)-theta_4[1]}:
else
ifldummy2>durnmy3)
theta_e_t = theta_1[1]-theta 3[1};
else

theta_e_1 = theta_i[1]~theta_4a[1]:
durmnmy1 = labs(theta_2[1]-theta_3[1]}):
dummy2 = fabs(theta_2[1]-theta_4{1]):

dummy3d = fabs(theta_2[1}-theta_i[1]);

if{dummy1 >dummy2}
if{dummy 1 >dummy3}
theta_e_2 = theta_2{1]-theta_3[1]:
else
theta_e_2 = theta_2[1]~theta_1{1];
else
if{dummy2>dummy3)
theta_e_2 = theta_2[1]-theta_4[1]:
else

theta_e 2 = theta_2(1]1-theta_1(1];
dummy! = fabs(theta_3[1]-theta_4[1]}):
dummy? = fabs(theta_3[1]-theta_t[1]):
dummy3 = fabs(theta_3[1]-theta_2[1]):

if{dummy1>dummy2)
if{dummy1>dummy3)
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theta_e_3 = theta_3[1]-theta_4[1}

else
theta_e_3 = theta_3[1]-theta_2[1]:
else
it{dummy2>durnmy3)

theta_e_3 = theta_3[1]-theta_1[1]:
else
theta_e_3 = theta_3[1]-theta_2[1):

dumrnyd = fabs(theta_4[1]-theta_1[1]):
dummy2 = fabs(theta_4{1]-theta_2[11):

dummy3 = fabs(theta_4[1]-theta 3[11):

H({dummy 1>dummy2)

itf(dummy 1>dummy3)

theta_e_4 = theta_4{1]-theta_1[1]:
else

theta_e_d4 = theta_4[1])-theta_3{1]:
efse

iH{dummy2>dummy3}

theta_e_4 = theta_4[1]-theta_2{1]:
else

theta_e_4 = theta_4[1]~theta _3[1]:
theta_ref 1 = kppl«theta_e_1:

1/ teedback synchronous erior value
theta_ref 2 = kpp2+theta_e_2;
theta_ref_3 = kpp3stheta_e_3:

theta_ref 4 = kppdstheta_e_4:

[rransamarnntenarnesrnnne f

while(acceleration loop_tlag==skip_flag) speed{):
if{ref_flag==0}

referencel();

else if{ref_flag==1)}

reference2():

else

reference3():

ref_speed = (2.*pi*ref_rom)/60.;

ret_max = {2 «pirref)/60.;

AR R A kAN R bk K b bk e
Al_e(1] = A_1[1]~gasok_tob[1]*K1;

/1 acceleration error

V_1[1] = V_1[0) +kap1+A_1_e[1]+kail+*A_§_e[0]:
// voltage ref.

ittv_101] >= 0)

ew_fg_1 = 3;
else
cw_flg_1 = O

iftv_1{1]) >= 0)

voitage_1 = v_1[1):

else

voltage_1 = -V_1[1}:

DA_1_scale = voltage_1x{4095./30.};
DA_1_scale = {DA_1_scale >= 4095.) 7 4085,
{DA_1_scale <= 0) 7 0 : DA_! scale:

DA_1 = {in){DA_t_scale);

DA_1_l = {DA_1 & OxO0ff) << 4:
DA_1_h = {DA_1 & OxDfiQ) >> 4

{/ analog pwm rate ref.

A2_e[1] = A_2[1]-gasok_2ob[1]~K2:

v_2f1] = v_2[0]+kap2+A_2_e[1]+kai2+A_2_e[0]:
itv_2{1] >= 0)

cw_flg_2 = 1,

else

cw_flg_ 2 = Ou

v 21} >= 0}
voltage_2 = V_2[1};
else
voltage_2 = -v_2{1];
DA_2_scale = voltage_2+(255./30.):
DA_Z_scale = {DA_Z_scale >= 255.) ? 255,
(DA_2_scale <= 0) 7 0 ' DA_2_scale;
DA_2 = (int)(DA_2_scale);

A_3_el1] = A_3[1]-gasok_3ob[1]+K3:

v_301] = v_3[0]+kap3+A_3_el1}+kai3«A_3_e[0]:
if(V_3[1] >= 0)

cw_flg_3 = 1!
else

cw_flg_3 = O
if(v_3[1] >= 0)

voltage_3 = V_3(11:
else

voltage_3 = -V_3[t];
DA_3_scale = voiltage_3+(4095./30.);
DA_3_scale = (DA_3_scale >= 4095.) ? 4095. :
(DA_3_scale <= 0) 7 0 : DA_3_scale;
DA_3 = {int){DA_3_scale);

DA_3.l = [DA_3 & Ox00ff) << 4
DA_3_h = (DA_Z & OxOff0) >> 4:
A_4_e[1] = A 4[1]-gasok_dob[1]«K4:

V_4[11 = V_4[0)+kapd=A_4_e[1]+kai4=A_a_e[0];
iHv_4[1] >= 0}

cw_flg_4 = 1
else
cw_flg_4 = O

iv_4{1] >= 0)
voltage_4 = V_4[1]:
else
voltage_4 = -v_4[1];
DA_4 scale = voltage_4+(255./30.);
DA_4_scale = {DA_4_scale >= 255) 7 255. ©
(DA_4_scale <= 0} ? 0 : DA_4_scale:
DA_4 = (intHDA_4_scale);

cw_flg =15:

cutportb{PORT+4, DA_1_1):
outportb{PORT+S, DA_1_h):
outportelPORT+10. DA_2);
outportb(PORT+6. 0A_A1):
outportb(POAT+7, DA_3_hY:

outportb(POAT+11, DA_4):
/{ analog D/A output
Junx o/

gasok_1{0]=gasok_t[1]:

gasok_lob[0]=gasok_tob{1]:
pulse_1[0} = pulse_1it}:
speed_1[0] = speed_1[1}:
theta_i[0] = theta_1[1]:
A_l_e{0] = A_i_eli]:
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voile] = vo1(1]:
current_1{0] = current_1[1};
curt[0] = curti1l;

gasok_2[0]=gasok_2[1].

gasck_2ob{0)=gasok_2obl1];
pulse_2{0} = pulse_2[1];
speed_2[0] = speed_2[t]:
theta_2[0] = theta_2(1}:
A2 el0) = A2 el1]
v_2[o) = v_e[1):
currem_2i0) = current_2{1]:
cur2{o] = cur2[t]:

gasok_3[0)=gasck_3[1]:

gasok_3ob[D]=gasok_3Job{1]:
puise_3[0] = pulse_301]:
speed_3[(0} = speed_3[1];
theta_3[0] = theta_3[1};

A3 e[0] = A3 el1]:
v_3{o] = v}
current_3{0] = current 31}
cur3[0} = cur3{1]:

gasok_4{0)=gasok_4f1]:

gasok_dob[0]=gasok_sab[1]:
pulse_4[0] = pulse_4[1]:
speed_4[0] = speed_4[1]):
theta_4{0] = theta_4[1]:
A_4_elo] = A_a_e1);
v4fo) = v.a(i}:
current_4[0]) = current_4(11;
cura[0] = curd[t):

outportb{PORT+B, 0x10):

outportb(0x20, 0x20):
}

frunwnnnne [ /

frerirraisarassioncts Speed ROULNE +ortrixs chuskerttrrnnf

Juwn canin P xrunf
void speed(void}{

w_1_e[t] = ref_speed-speed_1[1]-thela_ref_t;

// speed controller input ref.

ATt} = A_1[0]+kspirw_1_e[1]+ksil>w_1_e[0]:

{/ acceleration ret,

w_2 el1] = ref_speed-speed_2ft]-theta ref 2;

A_2[1]} = A_2(0)+ksp2*w_2_e[1)+ksiZ»w_2_e[0]:

w_3_el[1} = ref_speed-speed_3[1])-theta_ref_3;

A_3[1] = A_3[0]+ksp3+w_3_el1]+ksid*w_3_e[0]:
w_d_e[1] = ref_speed-speed_4[1]-theta_ref_4;
Aal1] = A_4[0]+kspaww_4_e[1]+ksidrw_d_e{0]:

e D e e I e L T e )
w_1 e{0] = w 1 el1]:

Aol = A1)

w_2_e[0] = w_2_el1]:

A_2[0] = A2():

w_3 e[0] = w 3 ellh

A3[0]) = A3[]

w_4_e[0] = w_d_e[1]:

A_4l0] = A4l

acceleration loop_flag = 0:

speedlcop_flag += 1:

}

Jrnnmanarnnamensnnnusannns ons .

frortrnssnnascenarninr Data INANZING *+aressrnssirsssns]

[T NI «f

void initial_data(void}{

outportb(PORT+3, OxOF).
v=0;

y=0;
ref_speed=0:
AD_1=0;
AD_1_1=0:
AD_1_h=0:
current_1[1]=0
current_1[0]=0;
curlf[13=0:
cur1{0]=0:
voltage_1=0,
DA_1=0:
DA_1_1=0;
DA_1_h=0:
DA_1_scale=0:
count_1=0;
count_1_gap=0:
pulse_1[1]=0;
pulse_1[01=0:
speed_1{1]=0;
speed_1{0]=0:

gasok_1ob[0]=0:

gasok_lob[1]=0:
gasok_1[0]=0;

gasok_1{1]=0:
theta_t{1]=0:
theta_1{G]=0;
theta_e_1=0:
theta_ref_t=0;
w_1_e[1}=0:
w_1_e[0]=0:
v_1[13=0:
v_1[0]=0:
A_1l1]=0:
A_1{0)=0:

A1 el1)=0:
A_1_e[0]=0:
AD_2=0;
AD_2_1=0Q;
AD_2_h=0:
current_2[1]=0;
current_2[0]=0;
cur2[11=0:
cur2[¢]=0:
voltage_2=Q,
DA_2=0;

0A_2 1=0:
DA_2_h=0;
DA_2_scale=0:
count_2=0;
count_2_gap=0;
pulse_2[11=0;
pulse_2[0)=0;
speed_2{1]=0;
speed_2{0]=0;

gasok_2ab[0]=0:

gasok_2ob{1]=0;

gasok_2[0]=0;

gasok_2[1]=0;
theta_2[1]=0;
theta 2[0]=0:
theta_e 2=0:
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theta_ref_2=0;
w_2_e[1]=0:
w_2_e[0]=0;
v_2{1]=0:
v_2[01=0;
A2[1]=0:
A_2{0]=0:
A_2_e[1]=0n
A_2_e[0]=0:
AD_3=0¢

AD_3_ =0
AD_3_h=0
current_3{1]=0:
current_3{0]=0;
cur3[1]=0;
cur3[01=0:
DA_3=0:
DA_3_Is0:
DA_3_h=0;
DA_3_scale=0:
court_3=0:
count_3_gap=0i
pulse_3{1}=0:
pulse_3[0]}=0:
speed_3[1]=0;
speed_3[0]=0;
theta_3[1]=0:
theta_3[0]=0:
theta_e_3=0:
theta_ref_3=0:
w_ 3 eli]l=0;
w_3_e[0]=0:
v_3[t]=0:
v_3[0]=0:
A_3[1)=
A_3[0]=0:
A3 e[1]=0:
A_3_el0}=0:

gasok_3ob[01=0:

gasok_3ob[1]=0:

gasok_3[0]=0;

gasok_3(1]=0.
AD_4=0;
AD_4_[=0:
AD_4_h=0:
current_4[1]=0:
current_4[0]=0:
curd[1]=0:
curd[0]=0;
DA_4=0:
DA_4_scale=0;
count_4=0;
coum_4_gap=0:
pulse_4[1]=0:
pulse_4{01=0:
speed_4[1]=0:
speed_4[0}=0:
theta_4[1]=0:
theta_4[{0)=0:
theta_e_4=0:
theta_ref_4=0:
w_4_e[1]=0:
w_d_e[0]=0:
V_4[t]=0:
v_4[0]=0:
A_4[1]1=0;
A_4[0]=0;
A_d_e[1]=0:

}

Jernninnn

A_4_e[0]=0:
gasok_dob[0]=0:
gasok_dob[1]=0;
gasok_4[0}=0:

gasok_4{1]=0:

i=0:

acceleration loop_flag=0:
speedloop_tlag=0:
ref_flag=0Q:

up_slop = (T_if3.)wrel:
down_stop = {T_i/4.)*rel;
skip = T_s/T_I

skip_flag = (int)(skip}:

void initiai_counter{void}{

t

outportb(OP_PORT, 0x00):

outpartb{TMR_CMD, 0x10);

outporto(XYCH+8, OxOF):
autportb{XYCH+12, 0x08);
outportb{XYCH+ 14, 0xQ3);
outportb(XYCH+16, 0x00):
outportb{X¥CH+10, 0x00):
outparts(ZUCH+8, 0x0Fh

outpantb{ZUCH+12, 0x0B):

outportb{ZUCH+ 14, 0x03):
oulportb(ZUCH+18, 0x00);

oulportb(ZUCH+10, 0x00}:

frawwen o

void timer(voigH{

)

outportb{PORT+15, Ox76):
outportb(PORT+13, 25}
outportb(PORT+13, 0x00}:
outportb{PORT+15, DxbB):
ouponb{PORT+14, 20):
outportb(PORT+14, 0x00);
outportb{POAT+3, Cxad):
oldiunc = getvect{0x0a):

setvect(Ox0a, current):

outportb(PORT+8, 0x10):

/! interrupt time set

Y

void control_input_start_end(voidH{

hkrxr ok kxf

Ak a kb kb a k]

DA = i
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DA_Z = DA;

DA_3_l = (DA&Ox00f) << 4:
DA_3_h = (DASCXOIf0) >> 4:
ba_4 = DA

cw_flg = 15;

oulportb (PORT+3, cw_fig):
outportb(PORT+4, DA_1_l):
outportb{PORT+5, DA_1_R)
outportb{(PORT+10, DA_2):
cutportb(PCRT+6, DA_3_1):
outportb(POAT+7, DA_3_h):

outportb{PORT+11, DA_4):

void reference 1{void){
ref_rpm += up_slop:
ref_rpm = {ref_rpm >= ref} 7 ref : ref_rom:
}
vold reference2(void}{
i
void referenced(void){
ref_rpm —= down_slop:
ref_rpm = {ref_tpm <= 0} 7 0 : ref_rpm!
}
FArrk A g kR AT K /

frxrewrrennnsinss reallime Monitoring Mamn srasssvsessmissf

N

vaid main{void){

char select!:

chrser()s

dof{
cirscr():
selection1{):
select!=getch(};
switch{select1){

case't"
realtime_rnonitoring();
break:
case'Z"
data_saving():
break:

case ‘Wx1b'goto end:
default © break:

}
clrser().
Twhite(1):
end:
}
Jrenexrnumenrnran chin axnf

void selectioni {void){
char *ps[ 1 = {" [1] Realtime Monitoring ",
* [2] Ramp, Variable Aeterence and Data Saving °,
" [Esc] Quit ",
* Setect job number [1-2] "}

cirser()

printf{"Wr¥¥niwn");
for(i=0:i<=3:i++}H{

printi("wnwtw%s” psil):

if (i==3) printf{"wWn"):

void data_saving{void){
char select3;

clrscr{):

dof
clrser():
selection3():
selectd=getch():
switch{select3){
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void realtime_monitoring{veid}{
char select2:
clrser():
dof
clrscr(}:
selection2();
select2=getch();
switch{select2}{
case'1":
realtime 1(};
break:
case'2'
realtime2():
bseak;
case'3':
realtime3{();
oreak:
case'4’:
reaftime4():
break;
case'5"
realtime5();
break:
case 'Wx1b':goto end:
default @ break:
}
clrser():
hwhile(1):
end:;
}
frenean !
void selection2{void){
char *ps[ 1 = {" [1] No.1 Realtime Monitoring ",
* [2] No.2 Aealtime Monitoring *,
* 13] No.3 Realtime Monitoring ",
" [4] No.4 Realtime Monitoring *,
> [5] All Axe's Position Synchranous Error "
“ {Esc] Quit ",
" Select job number [1-2] -}
clrsar{):
printi("Wn¥nwn"};
tor{i=0:i<=6:i++){
printf("Wnwtwtss pslil)
if {i==6} printf("Wn"}:
}
}
/ P exf



case'1" speedicop_{lag=0:
ramp_reference{):

break: ! . o
case'2": Twhile(ref_rpm>0);
variable_reference(): setvect{0x0a, oldfuncl;
break; controf_input_start_end{):
case 'Wx1b''goto end: getch():
default : break:
} getch():
clrscr(): outportb{XYCH+8, 0x0C):
Ywhile(1): oltportb(ZUCH+8, 0x0C):
end:;
H cleardevice():
I - % * J
void selectiond(vaid} closegraph():
char »psl 1 = {* [1] Ramp Reference and Data Saving 1}

Jrxxnn 3 *

" [2] Variable Reference and Data Saving

" {Esc] Quit " '
* Select job number [1-2] "} if(x_step>5001 )

x_gap += skip:

void realtimed_grap{void}{

cirser();
monitor_graphseti{}:

prntt{"WnWnwn'),
torli=01i<=3:i++){
printf{"wWnWwiwts%s pslil)

x_step = 1:
k1[0 = xxi{1] =vp.lett+00:

moveto{oc1(1],yy101]):

it {i==3) printf{"Wn"): }
} elsed
} x_step++!
- Txkun N / 5
1[1] = vpleft+90+{x_step}:
void realtimed{void}{ wctl1] = vode frstep)
monitar_set(); setcolor{1): /*BLUEx/
initial_data():
initial_counter(): setlinestyle(SOLID_LINE 0, NORM_WIDTH);

monitor_graphset!{); y_step = {int}{rpm_4#100 /ref_step):

ywi[1] = {int){vp.bottom-349-y_step):
xx1{0] = xx1[1] = vp.left+90:

linetolax1 [1]yy1 (11X
yy1{1] = vp bottom-349: /» speed =/

movetalxx1[0].yy2[1]):
yy2{1) = vp.bottom—-229-25; [+ current */

setcolor(0); /«BLACKs/
y_step = (in){cur4[11+100./5.):

yy2{1] = (in){vp.bottom-229-25-y_step):

wy3[1] = vp.bottom=-129. /+ load +/
y¥5[1] = vp.bottorn—28-40; /+ synchronous errar #/

movetolxx 1 {1 1yy1 {11
contrel_input__start_end():

lineto(xx1 {1} yv2(11):
hi): moveto(xx1[0],yy3[11):
getch();
setcolor(0): /*BLACK=/

y_step = {int){{Ktd=cur4[1]}+80./1.1

outportb{XYCH+8, 0x00):

outportb (ZUCH+8. 0x00):

if(v<10000)
ref_flag = O;
timer(): yy3[1] = (intHvp.boltormn—130-y_step).
dof{ else if(v<20000)
if{speedioop_tlag==301 yy3{1] = (int)(vp.bottom-130-y_step):
else

reaitime4_grap{):

yy3[1] = {int{vp.bottom-130-y_step);
speedicop_flag=0;

, lineto (ot [1]yy3[1]15
JuhileUkbnitl): movetolo [1],yy5011)
ref_flag = 2:

setcolor(4); /«RED*/
y_step = {int)(theta_e_4%120./0,06);
w5[1] = (int){vp bottom-29-40-y_step);

do{
it(speedloop_flag==30}

Iti) 4 B
realtime4._grapf{) linetoled1 [11.yy5111%
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}

movetolxx1 {1 Lyy1[1]):
)x1[0] = xx1[1];
}

LT eav e . x/

void ramp_reterence(void){

}
/

monitor_set();

initial _data():
initial_counter(}:
controi_input_start_end():

getch():
outportb(XYCH+8, 0xQ0):

outportb(ZUCH+8, 0x00):
ref_flag = O

timer(};

do{

if(speedioop_llag==20){
data_grap():

speedloop_flag=0:

}
Jwhile(ct<350+1);
ref_flag = 2:
dof

it(speedioop_flag==20){
data_grap();

speedlocop_flag=0:

}
Teile(ct<500+1):
setvect{OxCa, oldfunc);
control_input_start_end(}:
outportb{XYCH+8, 0x0C):
outpartb{ZUCH+8, 0x0C):
data_cut{):

cleardevice():

closegraph():

> !

void variable_reference{void){

monitor_set(}:
initial_data();
initial_counter{}:
controt_input_start_end(};

getchl():
outportb(XYCH+8, 0x00):

outportb{ZUCH+8, 0x00}:
ret_tlag = O:

timer({):

dof

i{speedloop._flag==201

data_grap();
speedioop_tlag=0:
}
Jwhite(ct<150+1);
ref flag = 2

do{
if{speedioop_flag==20){

data_grap():

speedloop_flag=0;

}
Ywhile{ct<250+1);
ref_flag = ¥
do{

i(speedloop_flag==20H
data_grap();

speedioop_flag=0:

}
twhite(ct<325+1);
ref_flag = 05
dad

if{speedloap_flag==20){
data_grap(h

speedloop_tlag=0;

¥
hwhile{ct<350+1);
ret_flag = 1;
do{

if(speedioop_tlag==20}{
data_grap{};

speedloop_flag=0:

}
Jwhile(ct<400+14);
ref_flag = 2:
do{

if(speedioop_flag==20){
data_grap():
speedloop_flag=0;
}
Iwhile{ci<500+1);
setvect(0x0a, oldfunc):
control_input_start_end():
autportb(XYCH+8, 0x0C):
outportb(ZUCH+8, 0x0C):
data_out{):
cleardevice():

closegraph(};
1
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void monitor_graphset1 (void}{

Fillbox{vp.left.vp.top,vp.right.vp.betiom, 15);
setcolor(0): /+*BLACK+/
rectangle{vp.left+90. vo.top+30, vp.right-49,
vp.bottom~348);
rectangle(vp.left+90, vp top+150, vp right-49,
vp.battarn—229);
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rectangle{vp.left+90, vp.tep+270, vp.right-49,
vp bottom-128);

rectanglefvp.left+80, vp.top+370. vp.right-49, vp.bottom-29):

setcolor(0), /=BLACK=/

settextjustify{CENTER_TEXT CENTER_TEXT)

setlextstyle(C,HORIZ_DIA, 1}

xl =

¥yl =

{vp.right-vp.left}/2+20:

vp.top+102

outtextxy(x1,y1,"< Four Axes Position Synchronous Control

>

setcolor(8): /*DARKGRAY+/
settextjustity(CENTER_TEXT, CENTER_TEXT):
seftextstyte(0.HORIZ_DIA. 1)
w1 = (vp.right-vp.left}/2+20;
y1 = vp.bottom-5;
outtextxy{x1 y1."Time[s]"):
setcolar{1): /*BLUE+/
settextjustify(LEFT_TEXT,CENTER_TEXT):
settextstyle(0,HORIZ_DIR,1):
x1 = wvp.left+82;
y1 = yp.bottom-454,;
outtextxy(x1,y1,"Speed{rom}"):
setcolor(0); /*BLACK#/
settextjustify(LEFT_TEXT CENTER_TEXT):
settextstyle(0, HORIZ_DIR, 1)
x1 = vp.left+82,
y1 = vp.bottom-334.:
outtextxy{x1,y1,"Current[A]"):
setcalor(0); /*BLACK=/
settextiustify{LEFT_TEXT,CENTER_TEXT):
settextstyle{(0, HORIZ_DIR,1);
x1 = vp left+92;
y1 = vp.bottom-215.
auttextxy{x1 .yl "Load Disturbance [NM1°):
selcolor(4); (=RED«/
seltextjustity(LEFT_TEXT.CENTER_TEXT):
settextstyle(0, HORIZ_DIR 1),
x1 = vp.left+82;
y1 = vp.bottorm-115:
outtextxy{x1,y1,"Positian Synchronous Error[rad]"):

setcolor(1): /+BLUECY/

setlinestyle(USERBIT_UNE,0x01011,NORM_WIDTH}:

settextjustify(AIGHT_TEXT,CENTER_TEXT):
setlextstyle(0,HORIZ_DIR, 1);
x1 = vpleft+80;

X2 =

vp.right-49;

y1 = y2 = vp.bottom—348:
gap[0]={ref_step)/4..
for(i=0:i<5;i++){

gapl1]=gap[0]+:

if(i==0] li==4){
aprintilx1-10,y1,"%. 11" gap{1]):
y2 =yl = y1-25;

}

else{
line(x1,y1 x2,y2):
gprintfix1-10,y1,"%.1¢" .gap[11}:
y2 = yl = y1=-25;

}

setcolor{Q): /BLACKs/
setlinestyle(USERBIT_LINE 0x01011 NORM_WIDTH):
seftextjustify(RIGHT_TEXT, CENTER_TEXT):
settextstyle(0,HORIZ_DIR, 1):

x1 = yp.left+80;

x2 = vp.right-48;

yt = y2 = vp bottom-22%
gap(0) =5./4.
torli=-1:i<div+ {

gap(1] = gap[0]+i

if(i==—=1]|i==4}{
gprintf{x1-10.y1,"%.2f" gap[1]}:
y2 =yl = y1-25.

}

else{
line{x1.y1.x2.y2):
gprintf{x1-10.y1,"%.21" gap[1]);
y2 =yt = yt=25:

t

setcolor(0): /+black+/
sellinestyte(USERBIT_LINE,Ox01011.NORM_WIDTH):
settextiustity(RIGHT_TEXT,CENTER_TEXT):
settextstyle(0,HORIZ_DIR,1):
x1 = vp.left+80;
%2 = yp.right-49:
yl = y2 = vp.bottom-12%;
gap(0] = (1.4

tor(i=0:i<5 i++){

gap[1] = gap[0]+i;
if(i==0}|i==5H
gprintf{x1-10,y1,"%.31",gap[ 11):
y2 =yl = y1-20:

}

else{
line{x1,y1.x2.y2%
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gprintf(x1-10,y1."%.31" .gap [ 1]):
y2 =yl = y1=-20:
}
t
setcolor(4): /*RED+/

seflinestyle{USERBIT_LINE 0x0101 1, NORM_WIDTH)

settextustity(RIGHT_TEXT CENTER_TEXT)
settextstyle(0, HORIZ_DIA,1);

x1 = vp.left+90:
x2 = vp.right-49:

yl = y2 = vp.bottom-29,

gap[0] = (0.03)/B.

for(i=—6i<T.i+=3){

gap(1] = gap[0]~i:
i(i==-61|i==6){
gorintfx1-10y1."% 2", gap(1]):
y2 =yl = y1-20;

}

else{

linelx1.,y1.x2,y2)i

gorinti(x1-10.y1,"%.2{" gap[1]):
y2 = y1 = yi-20:
}
}

setcolor(8): /*DARKGRAY +/
setlinestyle(USERBIT_LINE,Cx01011,NORM_WIDTH):

settextjustify{ CENTER_TEXT CENTER_TEXT):

settextstyle{0,HORIZ_DIR, 1)

x1 = x2 = vp.left+90+50;

y1 = vp.top+30

|

y2 = vp.bottorn-29;
gapl0] = {time_sum}/6.6666;
for(i=1:<1 114+
gapl1) = (x_gap)+gap[0]=i
it(i==10){
aprintt{x1,y2+10,"%.11".gap[11):
}
else{
line{x1,y1 x2,y2).
gprintf(x1,y2+10,"%. +{* . gap[1]):
x2 = x1 = x1+50;
}
1
}

[ AR R X888 KRR AR AR k[
void monitor_set{void){

x_gap = 0;

x_step = 0, y_step = O

initial_graph(}:

setviewport{0,0.MaxX, Max¥ )
getviewsettings{&vp);

setcolor(14);

settextjustity(CENTER_TEXT, CENTER_TEXT):
setlextsiyle(0, HORIZ_DIA,1);

cuttextxy((vp.right-vp let) /2., (vp.bottom—vp.top)/2.,
" Please, Input reference rpm of axes: ")

scanf("%t" &ref):

cleardevice(}:
initial_time():
}
[rrkxraannsnnr
void initial_time{void){
time_sum = 20.+T_s*data_sum;
ref_step = ref«4./3.;

(- o

)

[ruarans . J

vold initial_graph(void){

int GraphOriver:
int GraphMode:
int xasp, yasp:
GraphDriver = DETECT:
initgraph{ &GraphDriver, &GraphMode, " }:
ErrorCode = graphresult();
if{ErrorCode '= orOk}
printf("Graphics System Error: %swn",

grapherrormsg( ErrorCode })
exit{1):
H

getpalette( &palette );
MaxColars = getmaxcolor()+1:
MaxX = getmaxx(k

MaxY = getmaxy{)::

getaspectratio( 8xasp, &yasp )

}

L L L L LT T T T ey
int gprintf( int xloc, int yloc, char *fmt, ... }{

va_list argptr:

char str[2501;

int ent

va_start{ argptr, tmt );

cnt = vsprintf{ str, fmt, argptr 1

outtextxy{ xloc, yloc, str )

va_end( argptr };

return{ cnt ):

Iy

Pt L e

e

void Fillbox{int sx, int sy, int ex, int ey, int color{
int rec_poly[8]:
setfillstyle{SOLID_FILL, color);
rec_poly[0)=sx rec_poly[1]1=sy.rec_poly{2]=sx.rec_poly[3]=ey

rec_poly{4]=ex,rec_poly[5]=ey.rec_poly[8]=ex,rec_poly[7}=sy
fillpaly{4, rec_poly): }
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